
Knorr - SeriesSB6/SB7



Knorr Repair Kits - SB6/SB7 Series 

1002 

REF DESCRIPTION DIMENSION QTY 

01 1502 GUIDE PIN (SHORT) Ø34 x 80 mm 1 

02 1507 GUIDE PIN (LONG) Ø36 x 145 mm 1 

03 1514 BOLT (SHORT) M16x1,5 x 85 mm 1 

04 1518 BOLT (LONG) M16x1,5 x 150 mm 1 

05 1521 BRONZE BUSH Ø40 x Ø36 x 82 mm 1 

06 1525 RUBBER BUSH 1 

07 1531 INNER BOOT 1 

08 1532 OUTER BOOT 1 

09 1551 RING 1 

10 1552 OUTER BOOT CLIP 1 

Caliper Guides & Seals Repair Kit 

1002 - SB6/SB7 

1003 

REF DESCRIPTION DIMENSION QTY 

01 1501 GUIDE PIN (SHORT) Ø32 x 80 mm 1 

02 1505 GUIDE PIN (LONG) Ø36 x 114 mm 1 

03 1513 BOLT (SHORT) M16x1,5 x 80 mm 1 

04 1514 BOLT (SHORT) M16x1,5 x 85 mm 1 

05 1521  BRONZE BUSH Ø40 x Ø36 x 82mm 1 

06 1524 METAL-RUBBER BUSH Ø35mm (metal end) 1 

07 1531 INNER BOOT 1 

08 1541 STEEL CAP 1 

09 1542 CAP 1 

10 1551 RING 1 

11 1553 O-RING 1 

1004 

REF DESCRIPTION DIMENSION QTY 

01 1532 OUTER BOOT 6 

02 1541 STEEL CAP 6 

03 1552 OUTER BOOT CLIP 6 

04 1553 O-RING 6 

1003 - SB6/SB7 
Caliper Guides & Seals Repair Kit 

1004 - SB6/SB7 

Caliper Outer Boots & Steel Caps 

01

01
02

03

04

05 06

07

08

0910

01
02

0304

05 06

0708

09 10 11

01

02

03
04

ii328090062 

K001532 

K001301 



Knorr Repair Kits - SeriesSB6/SB7

1006 - SB6/SB7 
Caliper Rubber Bush & Guide Repair Kit 

1006 

REF DESCRIPTION DIMENSION QTY 

01 1502 GUIDE PIN (SHORT) Ø34 x 80 mm 1 

02 1514 BOLT (SHORT) M16x1,5 x 85 mm 1 

03 1525 RUBBER BUSH 1 

1008 - SB6/SB7 1010 - SB6/SB7 1011 - SB6/SB7 
Caliper Calibration Bolt Caliper Adjusting Mechanism WheelCaliper Adjusting Mechanism Adapter

1015 - SB6/SB7 

Caliper Piston Repair Kit 

1015 

REF DESCRIPTION DIMENSION QTY 

01 1533 TAPPET & BOOT ASSEMBLY Ø74 mm 2 

02 1520 TAPPET BUSH Ø18 x Ø16 x 10 mm 2 

02

01

02

03

01

02

II368470064 

ii304130065 



Knorr Repair Kits - SeriesSB6/SB7

1016 - SB6/SB7 

Caliper Pistons & Seals Repair Kit 

1016 

REF DESCRIPTION DIMENSION QTY 

01 1533 TAPPET & BOOT ASSEMBLY Ø74 mm 2 

02 1537 INNER SEAL 2 

03 1520 TAPPET BUSH Ø18 x Ø16 x 10 mm 2 

1018 - SB6/SB7 

1017 - SB6/SB7 

Caliper Guides & Seals Repair Kit 

Caliper Guides & Seals Repair Kit 

1017 

REF DESCRIPTION DIMENSION QTY 

01 1501 GUIDE PIN (SHORT) Ø32 x 80 mm 1 

02 1505 GUIDE PIN (LONG) Ø36 x 114 mm 1 

03 1513 BOLT (SHORT) M16x1,5 x 80 mm 1 

04 1514 BOLT (SHORT) M16x1,5 x 85 mm 1 

05 1521 BRONZE BUSH Ø40 x Ø36 x 82 mm 1 

06 1522 METAL-RUBBER BUSH Ø39 mm (metal end) 1 

07 1531 INNER BOOT 1 

08 1541 STEEL CAP 1 

09 1542 CAP 1 

10 1551 RING 1 

11 1553 O-RING 1 

1018 

REF DESCRIPTION DIMENSION QTY 

01 1505 GUIDE PIN (LONG) Ø36 x 114 mm 1 

02 1514 BOLT (SHORT) M16x1,5 x 85 mm 1 

03 1521 BRONZE BUSH Ø40 x Ø36 x 82 mm 1 

04 1531 INNER BOOT 1 

05 1541 STEEL CAP 1 

06 1551 RING 1 

07 1553 O-RING 1 

03

01

02

03

0102

0304

05

06

0708

09
10 11

01

02
03

040506
07

K000375 

K010604 

K000696 



Knorr Repair Kits - SeriesSB6/SB7

1019 - SB6/SB7 
Caliper Plastic Cover (without sensor) 

1022 - SB6/SB7 
Caliper Guides & Seals Repair Kit 

1022 

REF DESCRIPTION DIMENSION QTY 

01 1507 GUIDE PIN (LONG) Ø36 x 145 mm 1 

02 1518 BOLT (LONG) M16x1,5 x 150 mm 1 

03 1521 BRONZE BUSH Ø40 x Ø36 x 82 mm 1 

04 1531 INNER BOOT 1 

05 1532 OUTER BOOT 1 

06 1551 RING 1 

07 1552 OUTER BOOT CLIP 1 

1025 - SB6/SB7 

Caliper Guides & Seals Repair Kit 

1025 

REF DESCRIPTION DIMENSION QTY 

01 1502 GUIDE PIN (SHORT) Ø34 x 80 mm 1 

02 1506 GUIDE PIN (LONG) Ø36 x 134 mm 1 

03 1514 BOLT (SHORT) M16x1,5 x 85 mm 1 

04 1517 BOLT (LONG) M16x1,5 x 140 mm 1 

05 1521 BRONZE BUSH Ø40 x Ø36 x 82 mm 1 

06 1525 RUBBER BUSH 1 

07 1531 INNER BOOT 1 

08 1532 OUTER BOOT 1 

09 1551 RING 1 

10 1552 OUTER BOOT CLIP 1 

04

01

02

03

04

05

0607

01
02

03
04

05 06

07

08

0910

 1037- SB6/SB7  1055- SB6/SB7          RADIAL       RADIAL
Caliper Plastic Cover (without sensor) Caliper Sensor Cover  

K000935 

K000132 

   (2 cable)



Knorr Repair Kits - SeriesSB6/SB7

1026 - SB6/SB7 
Caliper Steel Cap Repair Kit 

1026 

REF DESCRIPTION DIMENSION QTY 

01 1541 STEEL CAP 1 

02 1553 O-RING 1 

1027 - SB6/SB7 

Caliper Guides & Seals Repair Kit 

1027 

REF DESCRIPTION DIMENSION QTY 

01 1502 GUIDE PIN (SHORT) Ø34 x 80 mm 1 

02 1505 GUIDE PIN (LONG) Ø36 x 114 mm 1 

03 1514 BOLT (SHORT) M16x1,5 x 85 mm 2 

04 1521 BRONZE BUSH Ø40 x Ø36 x 82 mm 1 

05 1525 RUBBER BUSH 1 

06 1531 INNER BOOT 1 

07 1541 STEEL CAP 1 

08 1551 RING 1 

09 1553 O-RING 1 

1028 - SB6/SB7 1029 - SB6/SB7 1030 - SB6/SB7 

Caliper Pad Retainer Repair Kit Caliper Adjusting Mechanism Caliper Adjusting Shaft (with spring) 

05

01

02

0102

03 03

04
05

06 07

08

09

II39769F0063

ii39769F0062 



Knorr Repair Kits - SeriesSB6/SB7

1031 - SB6/SB7 1033 - SB6/SB7 1035 - SB6/SB7 

Caliper Chain (29 links) Caliper Sensor Cover (2 cables inside) Caliper Lever (Angle 0° - 114 mm) 

1032 - SB6/SB7 

Caliper Bridge Assembly 

1036 - SB6/SB7 1168 - SB6/SB7 1171 - SB6/SB7 
Caliper Lever (Angle 12° - 123 mm) Caliper Roller Bearings Caliper Lever (Angle 0° - 127 mm) 

06

---------- 114 mm --------

---------- 123 mm ---------- ---------- 127 mm ----------

01

Caliper Guides & Seals Repair Kit 

1061- SB6/SB7

K031844, 1906779, K031844K50

1023 - SB6/SB7 
Caliper Guide & Seals Repair Kit

II358510062 OE-1906779



Knorr Repair Kits - SB6/SB7 Series 

1181 - SB6/SB7 
Caliper Guides & Seals Repair Kit 

1181 

REF DESCRIPTION DIMENSION QTY 

01 1501 GUIDE PIN (SHORT) Ø32 x 80 mm 1 

02 1502 GUIDE PIN (SHORT) Ø34 x 80 mm 1 

03 1505 GUIDE PIN (LONG) Ø36 x 114 mm 1 

04 1513 BOLT (SHORT) M16x1,5 x 80 mm 1 

05 1514 BOLT (LONG) M16x1,5 x 85 mm 2 

06 1521 BRONZE BUSH Ø40 x Ø36 x 82 mm 1 

07 1523 METAL-RUBBER BUSH short version 1 

08 1525 RUBBER BUSH 1 

09 1531 INNER BOOT 1 

10 1541 STEEL CAP 1 

11 1543 COVER Ø40 mm 1 

12 1551 RING 1 

13 1553 O-RING 1 

1182 - SB6/SB7 

Caliper Lever Bearing

07

01

02

03 04

05

06

07 08

09

10

11

1213

CALIPER LEVER

K000259 

1024

REF DESCRIPTION DIMENSION QTY 

01 1503 GUIDE PIN (SHORT) O34 x 120 mm 1 

02 1506 GUIDE PIN (LONG) O36 x 134 mm 1 

03 1516 BOLT (SHORT) M16x1,5 x 125 mm 2 

04 1517

BRONZE BUSH Ø40 x Ø36 x 82 mm 

1 

05 1521 1 

06 1526 1 

07 1539 1 

08 1540 1 

09 1552 1 

Caliper Guide & Seals Repair Kit

BOLT (LONG) M16x1,5 x 140 mm 

RUBBER BUSH (LONG) 

INNER BOOT 

OUTER BOOT 

OUTER BOOT CLIP 

3071 - SB6/SB7 1186 - SB6/SB7

1024 - SB6/SB7 

rubber stopper

K000365 

II179320062


